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(110#10% -110#12% )

Fa At E;i KW f? f;ﬁfz § #
204 1,000 | 110.10.06 | A ¢ ftes ~ E3pfres ~ 4 FH 4~ 4 £ 4ok
20O 1,000 [ 110.10.06 | A-¢ fces ~ HErfees ~ 2 B4 ~ 2 £ ik
2O% 1,000 | 110.10.06 | A ¢ $ces ~ H¥pfres ~ 4 FH 4~ 4 £ 4ok
# O 1,000 [ 110.10.06 | A:-¢ fces ~ HErfees ~ 2 B4 ~ 2 £ ok
20z 1,000 | 110.10.06 | A ¢ fres ~ H¥pfres ~ 4 FHes 4 £ 4ok
20%n 1,000 | 110.10.06 | A¢ 4024 ~ A¥rdens ~ 45408 « £ £ foik
#HO = 1,000 | 110.10.06 | A ¢ fres ~ H¥pfres ~ 4 FFH 4~ 4 £ 4ok
320ip 1,000 [ 110.10.07 | A-¢ fces ~ HErfees ~ 2 B4 ~ 2 £ ok
+#Oat 20,000 | 110.11.01 | A€ dcBs ~ Egpgens ~ 4 75480 4 £ 4
2O 1,000 | 110.11.01 | A€ fcEs ~ Eopdems ~ 4 FH 0~ % £ 40
=Om 1,000 | 110.11.01 | A dcos ~ EB¥pdcrt ~ 4 FH04 4 L Joid
204 1,000 | 110.11.03 | A ¢ 4024 ~ At ~ 475 4kps « 4 £ 4o
20O 1,000 [ 110.11.03 | Ax¢ dcBs ~ HEpdees ~ 2 mder % £ 3ok
2O% 1,000 [ 110.11.03 | A-¢ dces ~ HErfees ~ 2 Fdker ~ 2 £ ok
# O < 1,000 [ 110.11.03 | A-¢ Fces ~ HEfces ~ 2 B4 ~ & £ ik
20z 1,000 [ 110.11.03 | A-¢ Fces ~ HELfcEs ~ 2 BF B~ 4 £ ik
2 O 1,000 [ 110.11.03 | A-¢ Fces ~ HErfces ~ 2 B4 ~ & £ ik
#O = 1,000 [ 110.11.03 | A-¢ Fces ~ HELfcrs ~ 2 BF e~ 4 £ ik
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¥ Ot 5,000 | 110.12.02 | A ¢ 4784 ~ A¥pfees ~ 2 5304~ % L Fid

U@k 1,000 [ 110.12.03 | A-¢ fces ~ HErfers ~ 2 B4 ~ 2 £ ik

20O 1,000 | 110.12.03 | A ¢ dcEt ~ Aipders ~ 4 F4et ~ 4 2 g

JOL 1,000 | 110.12.03 | #:¢ 484 ~ Adfers ~ 4 3~ 4 £ Foid

# O 1,000 | 110.12.03 | A:¢ #c2s ~ & Etfees ~ 4 FFH e~ 4 £ 30k

2O 1,000 | 110.12.03 | A:¢ #c2s ~ A¥pfres ~ 4 B4k ~ % 2 4o

#HO = 1,000 | 110.12.03 | A ¢ dcEt ~ AEpgers ~ 4 F4et ~ 4 2 gl

20z 1,000 | 110.12.03 | A ¢ fces ~ HEpgees ~ 4 F4ms ~ 4 £ gk
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£ 0w 2,000 | 110.12.07 | A 4784 ~ A¥pfees ~ 2 5504~ % £ 30
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